2662 2695
257 = 2711
‘ Poczatek km. 0+000 2701
2657 2697 |
%51
2652 265
2652
2652 7~ %52
5
2646 . N
N
N 7
7 /I/
w8 /S
vyt
i
7 //
! /|\_ /’/ ///// o
4 ///I/ ke
T /l /;/ /7 f"“
Ve /!
2639 v ,///,;,/ ///,
/, f 3
%38 /////’}’/ //,’/ j e
" 7/
VARA Ay g
\ y ke gl /%/
™ k< ’ 7 A
\ \ L 2 //,// ///k/
@/\ // ///// /// //
s NON.26a5 ) S
W2 587 4
2631 \ \/ /I //‘/
A\ &
it 1)
Lns 1
s 4 %33
7 //// /// 7/
// // /; V7 // 2633
// ‘ /// /// 4
Sl
Fdet /,//// 2631
/, ’I,// /// 4 |
v L {’ J
T 4
///7 {/ //
A
/4 {/ /'(
= 2623
yr 398/2
l/ 7
W 2623
- 2624
! 2621
262.1
2681
2620
2620
39872 26261
e 262.0
o 2619
*261,8 V4 « 264,47
/
A 2617
261.8. , %33 4,
261,8 7
Yoz
0 2633
R 2629 /
R
/-
267% 2631
6"4/'{5” R 7R 26297
N
7 (& 7
viata/ ; Q7
S & Ve
%
’ 613 }\/‘m 261,00 %669 /26259 —
= . i, . s ==
S A K QIZ’MI 01 ¢ % ',0:9\ 262'6 e ézj l w";—'-f:_’/’_ st
Snorra I Kar 8 larz di & 9 e —ae




